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. Use the Gaussian elimination method with backward substitution and two-digit

rounding arithmtetic to solve the following linear systems. Do not reorder the
equations (The exact solution is r, = ( By = o] py = 3),

22, +0ry 4 25y = 3

ry + 2ry + dry = 11
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K Q‘Qﬁt + 4 '3 = "i WX ™ -

Use the Gaussian Elimination method to solve the following linear systems. De-
termine whether trivial pivoting is needed.

&} I “"}5“*2,1.'3—“‘—‘-3

4x) — 4.909 + D4 = 1

Iy - £y = 31'3 = 2.
b) 3.1‘1'”3.’1‘24”;2:'32*“1
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Let f(x) ~ 2rcos(2r) - (2 2)* and ro — 0,

a) Find the third Tayvlor polynowial / z), and use it to approximate f(0.4).
b) Use the error formmla in Taylot's Theorem to find an upper bound for the
crror [f(0.4)  Py(0.4)] Compute the actual error.

¢} Find the third Taylor polynowmial /
&“ Use the or

Wz). and use it to approxumnate f{0.4).
oTron

ormula i Taylor's Theorem to find an upper bowsd for the
1 f{0.4) - Pi{0.4)]. Compute the actual Crror,

s Ho)= -
p'(a)= 6
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